Physics 224 Quiz 3, Wed 22 Jan Name

Winter 2003 Fluids; thermal expansion Student number
1. The two vessels shown here in cross- \ A /
section have the same weight when _

empty, and are filled with the same

volume of water to the same depth.

The weight of each filled vessel, as measured by placing it on scales, must be the same. But since
B has a larger bottom, the total force exerted on the bottom by the water pressure must be greater
for B than for A. Is that right? How can that be?

Ygs. In B there's an ucwcr_o(s
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2. Here is a beaker of water containing a thin
drinking straw and a floating piece of ice. The
water in the straw is help up by capillary
action. Draw in pressure contours in the
water. What happens in the meniscus? What
about the pressure contours in the ice?

3. I have a metal ball bearing, and a metal plate with a hole in the middle. The ball bearing does
not quite fit through the hole. If I heat the plate up, will it fit, or will the hole just get smaller?

Why?
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